alphal3_4eX1X

0.2

UEILA40_LZA4E Y

0.5

alphal3_4eX1X:cyclenum {run == 5455}

SN AR B RPN IR
4129 4129.5 4130 4130.5 4131
cyclenum

deltad46_12X4eY:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

alpha4b_4ey4ay

5457

5456.5

5456

5455.5

5455

>454.5

5454

5453.5

5453

alpha46_4eY4aY:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

run:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 5455}

4129

4129.5

4130

4130.5

4131
cyclenum

segment:cyclenum {run == 5455}

4129

4129.5

4130

4130.5

4131
cyclenum




34

33.8

33.6

33.4

33.2

33F

32.8F

32.6

usl_1X:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

usl_4eY:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

-10.5
|

-11

-115

-12

-12.5

-48.5

-49.5

usl_4aY:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

usl_12X:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

5 L
22538

]
S5 25.6

25.4F

25.2F

25

24.8

24.6

24.4

24.2

24

23.8

23.6

5457

5456.5

5456

5455.5

5455

5454.5

5454

5453.5

5453

usl_4eX:cyclenum {run == 5455}

4129

4129.5

4130

4130.5

4131
cyclenum

run:cyclenum {run == 5455}

4129

4129.5

4130

4130.5

4131
cyclenum




-126.5

-127

-127.5

-128

-128.5

usI_aey

|
»
[

usr_1X:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

usr_4eY:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

~21.8

T

t‘

5 21.6
21.4
21.2

21
20.8
20.6
20.4
20.2

20
19.8

19.6

-47.5

-48.5

-49

usr_4aY:cyclenum {run == 5455}

L
4131
cyclenum

L |
4129 4129.5 4130 4130.5

usr_12X:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

! 188

187.5

186.5

186

5457

5456.5

5456

5455.5

5455

5454.5

5454

5453.5

5453

usr_4eX:cyclenum {run == 5455}

L
4131
cyclenum

1 |
4129 4129.5 4130 4130.5

run:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum




7256.5

17256

7255.5

17255

7254.5

2246.5

-2247

2247.5

—-2248

2248.5

usl_coill:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

usl_caoil6:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

2946.8

2946.6

2946.4
2946.2 F

2046 F

2945.8
2945.6

2945.4

2945.2
2045 F

29448 F

2944.6

3726.5

18726

3725.5

18725

3724.5

usl_coil3:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

usl_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

6534

3533.5

6533

3532.5

6532

5457

5456.5

5456

5455.5

5455

5454.5

5454

5453.5

5453

usl_coil4:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

run:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum




21003

1003.5

21004

1004.5

21005

-3104

3104.5

-3105

3105.5

-3106

usr_coill:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

usr_coil6:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

3232.6

3232.8

-3233F

3233.2

3233.4

3233.6

3233.8

-3234

3234.2

3234.4

3234.6 F

3234.8

9807.5

29807

9806.5

29806

9805.5

usr_coil3:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

usr_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

5947.5

5947

5946.5

5946

5945.5

5457

5456.5

5456

5455.5

5455

5454.5

5454

5453.5

5453

usr_coil4:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

run:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum




-142.5

-143

-143.5

-144

-144.5

-268.5

-269

-269.5

=270

-270.5

1X_coill:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

4eX_coill:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

1X_coil3

25

15

1X_coil3:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

4eX_coil3:cyclenum {run == 5455}

-36.5

-37.5

4129 4129.5 4130 4130.5 4131
cyclenum

LA_Cuns

4eA_Cons

©
=
IS

81.2F

©
=

80.8

80.6

80.4

80.2

80

79.8

79.6F

79.4F

79.2

©
=4
o

90

89.5

89

88.5

1X_coil7:cyclenum {run == 5455}

Eol v v by by v by 1y
4129 4129.5 4130 4130.5 4131
cyclenum

4eX_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum



323.5

323

321.5

296.8

296.6 F
296.4F

296.2F

296

205.8F

295.6 F

295.4

295.2

205 F

294.8F

294.6

4aY_coild:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

4eY_coild:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

-83.5

-84.5

-102.5

-103

-103.5

-104

-104.5

4aY_coil6:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

4eY_coil6:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

-12

-125

-13.5

-14

-10

-102F

-10.4F

-10.6

-10.8F
-11fF

-11.2F

-11.4

4aY_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

4eY_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum




-229.5

-230

-230.5

-231

-231.5

12X_coilé

IN

35

25

12X_coill:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

12X_coil6:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131

cyclenum

-79.5

-80

-80.5

-81.5

-490.5

-491

-491.5

-492

-492.5

12X_coil3:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

12X_coil7:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

12X_coll4

-15

-2

5457

5456.5

5456

5455.5

5455

5454.5

5454

5453.5

5453

12X_coil4:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum

run:cyclenum {run == 5455}

4129 4129.5 4130 4130.5 4131
cyclenum
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